
Government of India
Ministry of Defence

Ordnance Factory Board
10A, S.K. Bose Road

Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s BUDH SINGH AND SONS, C-3, industrial estate INDUSTRIAL ESTATE ROORKEE Uttarakhand is
registered at Ordnance Factory Board for following Items.

 

Sl.
No.

Factory / Unit Item Nomenclature Initial Date of
Registration

1 Opto Electronic Factory Packing box for 1A43 Device To DRG No AL4161485

LF 1460400006[14]

19-11-2018

2 CASE PACKING BOX TVNE 4B DRG NO AF4 161

419 01 LF NO 9927063099[99]

19-11-2018

3 WOODEN PACKING BOX MAIN LF NO

9927099165[99]

19-11-2018

4 PACKING BOX FOR 1G 46 T 90 L F NO

1460401128[14]

17-08-2019

5 PACKING BOX FOR CONTROL PANEL L F NO

1460401130[14]

17-08-2019

6 PACKING BOX FOR DELTA D L F NO

1460401131[14]

17-08-2019

7 PACKING BOX FOR RADIATOR L F NO

1460401132[14]

17-08-2019

8 PACKING BOX ASSY L F NO 1460401133[14] 17-08-2019

9 PACK BOX FOR ANGLE MACHANISM L F NO

1460401134[14]

17-08-2019

10 PACKING BOX FOR HEAD L F NO 1460401135[14] 17-08-2019

11 PACKING BOX OF HEAD OF 1G46 L F NO

1460401129[14]

17-08-2019

12 PACKING BOX FOR POWER UNIT L F NO

1460400007[14]

17-08-2019

Page 1/10



13 Ordnance Factory Dehradun Metal Case for Dial Sight and Mount 103A drg MCT

2644 Description : Metal Case for Dial Sight and

Mount 103A drg MCT 2644 [ENR Registration]

18-06-2019

14 CASE CARRYING CWC 245[00] 11-07-2019

15 CHEEK REST OPTICAL INSTRUMENT[74] 12-07-2019

16 CASE TO DRG NO MCT 2483 3[74] 12-07-2019

17 CLINOMETER 2A 46 BODY AS PER DRG NO MCT

3146 1[00]

12-07-2019

18 TRIPOD FIRE CONTROL INSTRUMENT NO 17A MK

2 M1 TO DRG NO MCT 2705 COMPLETE FOR

COLLIMETER INFINITY[74]

12-07-2019

19 PLATE TO DRG N0 MCT 2473[74] 12-07-2019

20 CAP TO DRG NO OS 34609 MCT 2835 FOR DFC

7[74]

12-07-2019

21 RING SECURING AS PER DRG NO IRDE 335 75[74] 12-07-2019

22 STOP PLATE AS PER DRG NO IRDE 335 80[74] 12-07-2019

23 CELL FOR FILTER LIGHT ABSORBING OPTICAL

INSTUMENT AS PER DRG NO IRDE 335 47 SHT

NO 2[74]

12-07-2019

24 NUT PLAIN HEXAGON AS PER DRG NO IRDE 335

52[74]

12-07-2019

25 CAP TO DRG NO MCT 2433 FOR D7[74] 12-07-2019

26 FRAME TO DRG NO MCT 2475[74] 12-07-2019

27 NUT TO DRG NO MCT 2451[74] 12-07-2019

28 SCREW DRG NO MCT 1125 1[74] 12-07-2019

29 LEVEL INDICATOR TO DRG NO MCT 3250 FOR

CLINOMETER 2A 46[74]

12-07-2019

30 NUT PLAIN ROUND IRDE 1175 30[74] 12-07-2019

31 RING TO DRG NO MCT 3248 FOR CLINOMETER

2A 46[74]

12-07-2019

32 TIP TO DRG NO MCT 3247 FOR CINOMETER 2A

46[74]

12-07-2019

33 SLEEVE TO DRG NO MCT 3249 FOR

CLINOMETER 2A 46[74]

12-07-2019

Page 2/10



34 COVER OF LEVEL TO DRG NO MCT 3252 FOR

CLINOMETER 2A 46[74]

12-07-2019

35 BUSH FOR DIRECTOR FIRE CONTROL NO 7 DRG

NO MCT 2446[74]

12-07-2019

36 BOLT LATCH TO DRG NO MCT 3103 FOR MT

TELESCOPE 102A[74]

12-07-2019

37 RING RETAINING DRG NO MCT 2959 1[74] 12-07-2019

38 SCREW DRG NO MCT 2949 2 FOR HR BINO[74] 12-07-2019

39 CELL RETICLE DRG NO IRDE 2605 16[74] 12-07-2019

40 SCREW DRIVER[00] 12-07-2019

41 SPRING MCT 3081[00] 12-07-2019

42 STRAP END DRG NO MCT 3071[00] 12-07-2019

43 SLING CARRYING CASE[00] 12-07-2019

44 SOLID TAPER PIN[00] 12-07-2019

45 PT SCREW 1412 FOR HR BINO[17] 12-07-2019

46 RING RETANING FOR HRBINO 8 30R[74] 12-07-2019

47 BINOCULAR SCREW DRG NO MCT 2936 2 FOR

HR BINO 8X30R[74]

12-07-2019

48 RING RETANING TO DRG NO MCT 2921 2 FOR HR

BINO 8X30R[74]

12-07-2019

49 NAME PLATE TO DRG NO MCT 2953 1 PLATE

IDENTIFICATION FOR HR BINO 8X30R[74]

12-07-2019

50 SCREW HEX SOCKET HEAD CAP CONFORMING

TO IS 2269 MAKE UNBRAKO TVS LPS[17]

12-07-2019

51 SOCKET HEAD CAP SCREW M 4X10 STEEL

CONFIRMING TO IS 2269 P 8 8 MAKE UNBRAKO

TVS LPS[17]

12-07-2019

52 STEEL WASHER PLAIN M4 CONFIRMING TO IS

2016[17]

12-07-2019

53 HEX SCREW CAP SOCKET HEAD M 4X30 LONG IS

2269 MAKE UNBRAKO TVS LPS[17]

12-07-2019

54 SLOTTED RAISED COUNTER SUNK HD BRASS

SCREW BM3X25MM FOR GUN RULE 105 37

FINISH BLACK BRONZING IS 1365[17]

12-07-2019

Page 3/10



55 SCREW MACHINE CSK HEAD SIZE M4X6 LONG

BRASS CONFIRMING TO IS 1365[17]

12-07-2019

56 SCREW MACHINE CSK HEAD SIZE M4X5 LONG

BRASS CONFIRMING TO IS 1365[17]

12-07-2019

57 SCREW MACHINE CSK HEAD SIZE M4X18 LONG

BRASS CONFIMING TO IS 1365[17]

12-07-2019

58 SCREW MACHINE CSK HEAD SIZE M6X9 LONG

STEEL CONFIRMING TO IS 1365[17]

12-07-2019

59 SCREW CHEESE HEAD SIZE M2X4 MM STEEL

WITH OIL BLACKENED AND QUENCHED

COATING[17]

12-07-2019

60 SCREW MACHINE CHEES HEAD SIZE M6X12

STEEL TO IS 1366[17]

12-07-2019

61 SCREW GRUB CONICAL END SIZE M2X2 STEEL

CONFORMING TO IS 2388[17]

12-07-2019

62 SCREW GRUB CONICAL END SIZE M4X6 STEEL

CONFORMING TO IS 2388[17]

12-07-2019

63 SCREW GRUB SLOTTED HEAD CONICAL HEAD

WITH CADMIUM PLATING STEEL AS PER IS 2388

MAKELPS[17]

12-07-2019

64 SCREW GRUB SLOTTED CONICAL END STEEL

SIZE M3X3 MM LONG AS PER IS 2388 1971[17]

12-07-2019

65 SCREW SOCKET CAP HEXAGONAL HEAD SIZE

M4 X 16MM LONG STEEL IS 2269[17]

12-07-2019

66 SCREW HEXAGONAL HEAD SIZE M6X15 LONG

STEEL IS 1364[17]

12-07-2019

67 PUNCHED WASHER M3 BRASS AS PER IS

2016[17]

12-07-2019

68 WASHER SPRING M 6[17] 12-07-2019

69 BUTT HINGES MILD STEEL FLAP IS1341[19] 12-07-2019

70 CHEST HANDLE 4 inches SIZE[40] 12-07-2019

71 CELL OUTER DRG NO IRDE 2048 129[74] 12-07-2019

72 LEVER DRG NO IRDE 2048 139[74] 12-07-2019

73 SCREW M C SLOTTED CSK HD STEEL IS 1365

M3X20MM LONG FOR INDICATOR FUSE 105 37

FINISH PHOSPHATING[17]

12-07-2019

Page 4/10



74 SCREW M2X4 SLOTTED HEAD CONICAL END

GRUB SCREW STEEL AS PER IS 2388 WITH

CADMIUM PLATING[17]

12-07-2019

75 SCREW METRIC SLOTTED CH HD WITH BLACK

BRONZING IS 1366 BRASS[17]

12-07-2019

76 SCREW GRUB SLOTTED CONICAL END STEEL

WITH CADMIUM PLATING SIZE M2X2 DIN 553 AS

PER IS 2388[17]

12-07-2019

77 SCREW SPECIAL ADJUSTING WITH BUSH TO

DRG NO MCT2871 1[74]

12-07-2019

78 NAME PLATE DRG NO MCT 1726 2[74] 12-07-2019

79 CELL FILTER DRG NO MCT 1727 1[74] 12-07-2019

80 RING RETAINING OPTICAL ELEMENT TO DRG NO

IRDE 2605 18[74]

12-07-2019

81 RING SPECIAL AS PER DRG NO IRDE 2605 13[74] 12-07-2019

82 SPACER OPTICAL ELEMENT TO DRG NO IRDE

2605 5[74]

12-07-2019

83 CELL OPTICAL INSTRUMENTS ERECTOR AS PER

DRG NO IRDE 2605 9[74]

12-07-2019

84 ADAPTER FLANGED EYE SHIELD AS PER DRG

NO IRDE 2605 30[74]

12-07-2019

85 NUT PLAIN ROUND AS PER DRG NO MCT

3012[74]

12-07-2019

86 PLATE IDENTIFICATION HINDI FOR TNPA 65 A

MCT 2652 1[74]

12-07-2019

87 PLATE IDENTIFICATION ENGLISH FOR TNPA 65 A

MCT 2651 1[74]

12-07-2019

88 RIVET COPPER CSK HD LONG FOR PLOTTER

81MM MORTAR CASED 101A[17]

12-07-2019

89 WASHER B IS 5370 BRASS[17] 12-07-2019

90 STAINLESS STEEL HELICOIL INSERTS STD

NOTCHED[17]

12-07-2019

91 SPRING TO DRG NO IRDE 2603 29 MCT 1334 2[74] 12-07-2019

92 PLATE IDENTIFICATION ENG TO DRG NO MCT

2173 1[74]

12-07-2019

93 PLATE IDENTIFICATION HINDI TO DRG NO MCT

2183 1[74]

12-07-2019

Page 5/10



94 CELL OG FOR TELESCOPE SIGHTING[74] 12-07-2019

95 RING RETAINING OPTICAL ELEMENT TO DRG NO

IRDE 2603 14[74]

12-07-2019

96 RING RETAINING OPTICAL ELEMENT TO DRG NO

IRDE 2603 32[74]

12-07-2019

97 SPACER OPTICAL ELEMENT TO DRG NO IRDE

2603 4[74]

12-07-2019

98 YOKE TO DRG NO MCT 1464 3[74] 12-07-2019

99 FRAME TO DRG NO MCT 1465 3[74] 12-07-2019

100 NUT AS PER DRG NO AU8 934 008[74] 12-07-2019

101 SCREW AU 8 900 044[17] 12-07-2019

102 ALUMINIUM RIVET FLAT HEAD DIAMETER 2 MM

LENGTH 6 MM CONFIRMING TO IS 2155[17]

12-07-2019

103 PLATE IDENTIFICATION NAME PLATE IN ENGLISH

FOR TNPO 160 MCT 2248 2[74]

12-07-2019

104 CH HD SCREW BM 4X10 LONG M S FOR TNPO

168B[17]

12-07-2019

105 WASER SPRING SINGLE COIL PHOSPHER

BRONZE 4MM[17]

12-07-2019

106 CAP TO DRG NO MCT 1418[74] 12-07-2019

107 PLATE IDENTIFICATION NAME PLATE IN ENGLISH

FOR PERISCOPE TNPO 168 B MCT 2280 2[74]

12-07-2019

108 BUCKLE TO DRG NO IRDE 2001 65[00] 12-07-2019

109 EYE PIECE LOCK RING TO DRG MCT 2506 1 FOR

TELE SIGHT MK III[74]

12-07-2019

110 RETAINING TO DRG NO IRDE 2023 38 MCT1493 1

FOR GNVP[74]

12-07-2019

111 RING RETTIANING OPTICAL ELEMENT TO DRG

IRDE 2001 7 MCT 1474 FOR BNVP 101A[74]

12-07-2019

112 WASHER SPRING TENSION TO DRG NO MCT

1192 1[00]

12-07-2019

113 PLATE RETAINING BEARING[00] 12-07-2019

114 CHAIN WELDLESS MCT 3275[00] 12-07-2019

115 CAP LID TO DRG NO MCT 3251 FOR

CLINOMETER 2A 46[00]

12-07-2019

Page 6/10



116 RING WITH DIVISIONS AS PER DRG NO MCT

3268A FOR CLINOMETER 2A 46[74]

12-07-2019

117 SCREW BA ROUND HEAD[74] 12-07-2019

118 LEG ASSEMBLED TO DRG NO CII 641 A MCT

2702[74]

12-07-2019

119 CHAIN TO DRG NO OS 13685[74] 12-07-2019

120 EYE HOOK TO DRG NO OS 10608 MCT 2660[74] 12-07-2019

121 TRAP TO DRG NO OS 6627[74] 12-07-2019

122 COLLER TO DRG OS 12327[74] 12-07-2019

123 BUSH TO DRG OS 13616 MCT 2834[74] 12-07-2019

124 METAL CASE TO DRG NO MCT 1999 FOR BORE

MUZZLE SIGHT[74]

12-07-2019

125 NUT CLAMPING AS PER DRG NO MCT 3163[74] 12-07-2019

126 SCREW DRIVE PIVOT DRG NO MCT 1127 1[74] 12-07-2019

127 WASHER TO DRG MCT 3114 1 FOR SUC 102B[74] 12-07-2019

128 CELL OBJECTIVE TO DRG MCT 3233 FOR SIGHT

UNIT CASED 102B[74]

12-07-2019

129 CELL OPTICAL ELEMENT AS PER DRG NO MCT

3269 1 FOR SIGHT DIAL 104A[74]

12-07-2019

130 WING NUT CLAMP TO DRG NO MCT 1131 2 FOR

SIGHT UNIT CASED 102B[74]

12-07-2019

131 CELL AS PER DRG NO MCT 3279[74] 12-07-2019

132 CASE VIAL LEVEL AS PER DRG NO MCT 3284[74] 12-07-2019

133 SCREW SOCKET CAP HEXAGONAL HEAD SIZE

M4X18 LONG STEEL CONFIRMING TO IS 2269[17]

12-07-2019

134 WOOD SCREW NO 4X25MM LONG CSK HD STEEL

PHOSPHATED IS 6760[17]

12-07-2019

135 CORNER PIECE FOR BASE PLATE TO DRG NO

MCT 874 1[00]

12-07-2019

136 GUIDE SPRING TO DRG NO CQA I 793 11[00] 12-07-2019

137 INSULATOR II DRG NO MCT 1305 2[00] 12-07-2019

138 LEAF SPRING TO DRG NO MCT 2424[00] 12-07-2019

139 SPRING MOUNTING BOLT DRG NO MCT 1057[00] 12-07-2019

Page 7/10



140 SCREW SPECIAL DRG NO 2880[00] 12-07-2019

141 BOLT MILD STEEL HEXAGONAL HEAD FULL

THREADED SIZE M5 25 LONG TO IS 1363[17]

12-07-2019

142 SCREW METRIC HEX HD STEEL M6 30 HALF

THREAD LENGTH[17]

12-07-2019

143 SCREW METRIC SLOTTED CH HD M6X19 LONG

STEEL IS 1366[17]

12-07-2019

144 SCREW GRUB SLOTTED HEAD LONG STEEL

WITH PHOSPHATE PLATING AS PER IS 2388

CONICAL END[17]

12-07-2019

145 SCREW METRIC CH HEAD STEEL M3X20MM

LONG IS 1366[17]

12-07-2019

146 SCREW SLOTTED METRIC CSK HD M2X7 LONG

BRASS IS 1365[17]

12-07-2019

147 SCREW SLOTTED CSK HEAD BRASS WITH DULL

BRASS BRONZING PLATING AS PER IS 1365[17]

12-07-2019

148 SCREW GRUB SLOTTED CONICAL SIZE M2X4 MM

LONG BRASS WITH BLACK BRONZING COATING

AS PER IS 2388[17]

12-07-2019

149 SCREW DIAL SCALE M3 X 5 MM DIN 88 FOR

TELESCOPE SIGHT 84 MM RCL GUN[17]

12-07-2019

150 SCREW SLOTTED CSK HEAD M2X8 MM LONG

COARSE PRECISION STEEL WITH PHOSPHATING

PLATING AS PER IS 1365[17]

12-07-2019

151 SCREW METRIC SLOTTED CSK HD IS 1365

BRASS[17]

12-07-2019

152 SCREW METRIC SLOTTED CSK HD COARSE

PITCH PRECISION M2X3 STEEL IS 1365 1968

MAKE TVS UNBRAKO LPS[17]

12-07-2019

153 SCREW SLOTTED CSK HD PRECISION M2X5MM

LONG BRASS WITH DULL BRASS BRONZING

PLATING AS PER IS 1365[17]

12-07-2019

154 SCREW METRIC STOLLED CH HD COARSE PITCH

PRECISION M2X5 IS 1366 BRASS[17]

12-07-2019

155 SCREW GRUB SLOTTED BRASS CONICAL END

BA FOR SUC 102B[17]

12-07-2019

156 SCREW GRUB END IS 2388 LONG STEEL FOR S

DIAL 102A FINISH CAD PLATING[17]

12-07-2019

Page 8/10



157 SCREW BA BRASS CSK HD NO 8X02 FOR S U

C[17]

12-07-2019

158 SCREW GRUB SLOTTED CONICAL END STEEL

WITH CADMIUM PLATING SIZE M2X2 DIN 553 AS

PER IS 2388[17]

12-07-2019

159 CH HEAD SCREW M 3X 12 LONG BRASS IS 1366

FOR SIGHT UNIT CASED 102B[17]

12-07-2019

160 SCREW MACH CH HD M3X6MM LONG IRDE 68 MA

FOR SIGHT UNIT CASED[17]

12-07-2019

161 SCREW GRUB SLOTTED CONICAL END STEEL

M2 X4 MM LONG[17]

12-07-2019

162 SCREW GRUB SLOTTED HEAD CONICAL HEAD

WITH CADMIUM PLATING STEEL SIZE AS PER IS

2388[17]

12-07-2019

163 WOOD SCREW BRASS SIZE GAUGE CSK HD AS

PER IS 6760 1972[17]

12-07-2019

164 PIANO HINGE BRASS 16MM OPENED WIDTH AS

PER IS 3818 1992 AS PER MCT DRG NO 1997 1[17]

12-07-2019

165 HOOK SAFETY NO 3 TO DRG NO MCT 695 1 7

SHEETS[17]

12-07-2019

166 SCREW DRIVER 150MM LONG INCLUDING

HANDLE CONFORMING TO IS 844 1991[40]

12-07-2019

167 FASTENER SET TURN LOCK DRG NO MCT 1189

1[00]

12-07-2019

168 TRIPOD X 155 CWC 241[74] 19-06-2020

169 CASE MORTAR SIGHT TESTING APPARATUS MK I

AS PER DRG NO CIA FC 2434[74]

07-08-2020

170 lock as per olf std 243[17] 08-02-2021

171 Small Arms Factory CASE PEGS NIGHT LINE MG MK 1 Description :

CASE PEGS NIGHT LINE MG MK 1 [ENR

Registration]

01-03-2022

 

Registration No. : AAQFB7448F

Initial Date of Registration : 19-11-2018

Downloaded at : 11/01/2025 05:10 am

 

Page 9/10



Conditions of Registration:

1. This Registration has been carried out based on self-declared documents furnished by Vendor.

2. Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the

Registration Authority immediately.

3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

 

 This is a system generated certificate. Hence no separate signature is required.

 

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

 

 

Powered by TCPDF (www.tcpdf.org)

Page 10/10

http://www.tcpdf.org

